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Ideals for irreducible component#ﬂ)f Xpar

I} = (—249708u” — 1442317u® + - - - + 48083962b — 1389936,
2808285u” — 11413026u® + - - - + 625091506a — 1233253,
u® 4+ u® — 3u® — 110" + 23u® 4 10u® — 40u? + 43u® + 8u — 13)
Y = (—9u® + 10u® — 29u* — 13u® + 37u? + 41b — 95u + 37,
— Tub + 26u® — 18u* + 40u® + 88u? + 41a — 124u + 129, u” + 3u® + 3u* — 2u® + Tu? — 2u + 1)

* 2 irreducible components of dim¢ = 0, with total 17 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I} = (—2.50 X 10°u® — 1.44 x 10%u® + - - - + 4.81 x 107b — 1.39 x 10°, 2.81 x
10%4® —1.14 X 107ud + -+ - +6.25 X 108a — 1.23 x 10%, w'® +u® +... +8u—13)

(i) Arc colorings

- ()

= 0)
—0.00449260u” + 0.0182582u® + - - - 4 1.32084u + 0.00197292
a4 = 0.00519317u? + 0.0299958u® + - - - + 0.743464u + 0.0289064
o= (o)
—0.0220573u? — 0.0351316u® + - - - + 0.817782u — 0.322693
as = 0.0438996u° + 0.0820347u® + - - - 4 0.685204u + 0.494633
—0.00968576u” — 0.0117376u® + - - - + 0.577372u — 0.0269335
az = 0.00519317u? + 0.0299958u® + - - - + 0.743464u + 0.0289064
—0.00968576u” — 0.0117376u® + - - - + 0.577372u — 0.0269335
az = 0.0214765u? + 0.0741603u® + - - - + 0.852964u + 0.0555807
0.0198337u® + 0.0277149u® + - - - — 0.545921u + 0.561441
0.0210232u? + 0.0419173u® + - - - 4+ 0.718255u + 0.381521
0.00222357u® + 0.00741674u8 + - - - — 0.271861u + 0.761252
—0.0347357u® — 0.0812062u® + - - - — 0.339580u — 0.451264
0.0336232u° + 0.0761229u® + - - - — 0.224398u + 0.840205
—0.0855628u° — 0.203256u® + - - - — 0.398771u — 1.06216
0.0238374u° + 0.0435082u8 + - - - — 0.0666326u + 0.770268
ao = \ —0.00441748u° + 0.00115972u8 + - - - + 0.414900u + 0.184888

0.0238374u° + 0.0435082u® + - - - — 0.0666326w + 0.770268
@10 = \ —0.00441748u° + 0.00115972u8 + - - - + 0.414900u + 0.184888

(ii) Obstruction class = —1

5126407 , 9 1515297 151141541 241733105

(iii) Cusp Shapes = — jgiezgesu” — 48083962“ ++ Zs0s3962 ¥ — 18083962




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C u'® —6u® — 40" + 3108 — 3u® + 190t — 2P + WP +u—1
C2 u'® =120 + - —3u+1
C4,Cs5,Co u'® — 9u? + 36u® — 79u” + 93u’ — 36u® — 40u” + 450 — 8u® + 4u — 8
7, ¢10 wl® +3u” + 1108 + 4" — 9u® — 84w’ — 64u* — 11u® — 16u% — 1
cs u'® —u? — 3u® + 110" + 23u® — 10u® — 40u* — 43u® — 8u — 13
ci1 u'® —2u® 4 u® +2u” b — T’ Tt —u? - 2u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,¢3,Co y''—12y" - =3y + 1
€2 Y0+ 5297 + - — Ty + 1
10 9
C4,Cs, C9 Y —9y +~--+112y+64
10 9
€7, €10 yo + 13y 4+ 32y + 1
Cs y'0 =7y 4+ - — 64y + 169
cn y'0—2y° + —6y+1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

0.661040 + 0.9725261
0.046863 + 1.1418401
0.139003 + 0.7083701

—5.08678 + 3.487591

—7.45675 — 0.732951

u= 0.661040 — 0.9725261

a 0.046863 — 1.1418401 | —5.08678 — 3.487591 | —7.45675 + 0.732951
b= 10.139003 — 0.7083701

u= 0.672063

a= 0.745125 —1.57143 —5.48950

b= 0.447351

u = —0.334564 4 0.5284431
a = —0.220981 + 1.0255901
b= —0.178308 4 0.529060.1

—0.164338 — 1.1176601

—2.63384 + 5.745011

u = —0.334564 — 0.5284431
a = —0.220981 — 1.0255901
b= —0.178308 — 0.5290601

—0.164338 + 1.1176601

—2.63384 — 5.745011

u = —1.57545
a = —0.500640
b= —0.399391

—10.0735

—16.9190

u= 1.61793 4+ 0.67025]
a= 0.679052 4 0.3293991
b= —2.13328 — 0.912891

7.01395 + 1.692751

—4.50434 — 0.096971

u= 1.61793 — 0.670251
a= 0.679052 — 0.3293991
b= —2.13328 + 0.912891

7.01395 — 1.692751

—4.50434 + 0.096971

u = —1.99271 + 1.852051
a = —0.050253 — 0.4993141
b= 2.14860 — 1.335391

6.52702 — 8.612491

—5.20069 + 4.18606.1

u = —1.99271 — 1.852051
a = —0.050253 + 0.4993141
b= 2.14860 + 1.335391

6.52702 + 8.612491

—5.20069 — 4.186061




IL. 1Y = (—9u® + 10u® + - - - + 41b 4 37, —Tu® 4 26u® + --- + 41a + 129, u” +

3u® + 3ut — 2u® + Tu? — 2u + 1)

(i) Arc colorings

- ()

= (o)
0.170732ub — 0.634146u° + - - - 4 3.02439u — 3.14634
ag = \0.219512uf — 0.243902u° + - - - + 2.31707u — 0.902439
o= ()
0.0243902u — 0.804878u" + - - - 4 2.14634u — 2.87805
as =\ 0.585366uS — 0.317073u® + -+ 2.51220u — 1.07317
—0.0487805u — 0.390244u5 + - - - + 0.707317u — 2.24390
az =\ 0.219512uf — 0.243902u° + - - - + 2.31707u — 0.902439
—0.0487805u° — 0.390244u5 + - - - + 0.707317u — 2.24390
az =\ 0.341463uS — 0.268293u® + - - - + 3.04878u — 1.29268
0.878049u + 1.02439u° + - - - + 3.26829u + 2.39024
0.0487805u + 0.390244u° + - - - 4 0.292683u + 1.24390
—0.902439u° — 0.219512u° + - - - — 5.41463u — 0.512195
—0.390244u — 0.121951u5 + - - - — 1.34146u — 0.951220
—0.0487805u® — 0.390244u5 + - - - — 0.292683u — 2.24390
0.365854u5 — 0.0731707u’ + - - - 4 2.19512u — 1.17073
—0.170732u® + 0.634146u° + - - - — 3.02439u + 2.14634
a10 = \ —0.121951uf + 0.0243902u® + - - - — 1.73171u + 0.390244

—0.170732u® + 0.634146u° + - - - — 3.02439u + 2.14634
a0 = \ —0.121951u8 + 0.0243902u® + - - - — 1.73171u + 0.390244

(ii) Obstruction class =1

167 1 1 1 1, _ 1
(iii) Cusp Shapes = 18746 4 10645 4 4884 4 715,38 _ 108,24 551, _ 190



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

€1 w — w4+ 3w —2ut 20— 20+ u—1

C2 u” +5u8 +9u° 4+ 6ut — 4u® —3u—1

c3,Cg uWHuS + 3w+ 20t 20+ 20 +u+ 1
C4,C5 u +ub —4u® — 3ut +5ud + 20— 2u+1

cr w +2u® —w’ —3ut — 20+l +2u+1

8 w4+ 3u® +3ut — 20+ Tu? —2u+1

€9 w —u® — 4w+ 3ut + 50— 20 —2u—1
C10 uw =2 — P+ 3t -2 -t +2u—1

c11 w —3uS 4w —ut -+ 2u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C3,Cp y" + 5y +9y° + 6y* —4y® -3y — 1
€2 Yy —TyS +21y5 — 2t + 4y — 4Py — 1
C4,Cs, Cy y" —9y® +32y° — 57yt + 51y — 18y% — 1
c7,C10 y" —6y5 +9y° — 5yt +2y° — 3yt + 2y —1
s y" + 65 + 5y° — 25yt — 50y° — 47y* — 10y — 1
cin y" =y’ +8y° — Byt + 11y — 6y + 4y — 1




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V—1(vol + y/=1CS)

Cusp shape

0.467003 + 0.9762511
0.42070 + 1.391711
0.275124 + 0.7786151

—5.39479 + 4.179671

—12.5166 — 9.74461

u = 0.467003 — 0.9762511

a 0.42070 — 1.391711 —5.39479 — 4.179671 | —12.5166 4 9.74461
b= 10.275124 — 0.7786151

u = —1.52187

a= 0.371752 —9.60369 0.690320

b= 0.876095

u = 0.148823 + 0.3817781
a = —2.37616 + 0.930671
b = —0.466038 + 0.7542091

—1.83703 — 2.440431

—3.31727 + 3.975771

u = 0.148823 — 0.3817781
a = —2.37616 — 0.930671
b = —0.466038 — 0.7542091

—1.83703 + 2.440431

—3.31727 — 3.975771

uw=0.14511+ 1.822231
a = —0.230411 — 0.3772511
b= 0.25287 — 1.437191

—7.70554 4 1.746181

—7.51126 — 3.544501

u = 0.14511 — 1.822231
a = —0.230411 4 0.3772511
b= 0.25287 + 1.437191

—7.70554 — 1.746181

—7.51126 + 3.544501




ITI. u-Polynomials

Crossings u-Polynomials at each crossing
c (u” —u® 4 3u® — 2u* + 2u® — 2u® +u —1)
(u® = 6u® — 40" + 3108 — 3u® + 19ut — 203 +uP 4 u—1)
€2 (u” +5uS + - —3u— 1) (u'® = 12u° + - = 3u+1)
c3, C (u” 4 u® 4 3u® + 2u? + 2u® + 2u® +u + 1)
(u'? —6u® — 4u” + 310 - 3u® + 190t — 2u® +u +u—1)
c4, Cs (u” +u® — 4u® — 3u* + 5u® + 2u® — 2u + 1)
(u'® — 9u? +36u® — T9u” + 93u® — 36u° — 40u* + 45u® — 8u? + 4u — 8)
cr (u” 4 2u8 — u® — 3ut — 2u® + u® + 2u + 1)
(w4 30 4+ 11u® + " — 9u® — 84u® — 64ut — 110 — 16u* — 1)
cs (u” + 3u® + 3u* — 2u® 4+ Tu? — 2u + 1)
(' —u® = 3u® 4+ 110" + 23u8 — 10u® — 40u* — 43u® — 8u — 13)
Co (u” — ub — 4u® + 3ut + 5u® — 2u® — 2u — 1)
(u'® — 9u? +36u® — T9u” + 93u® — 36u° — 40u* + 45u® — 8u? + 4u — 8)
c1o (u” —2u® —u® + 3u* — 2u® —u? +2u —1)
(' 4 30 + 1P+ — 9ub — 84S — 64ut — 11u® — 16u* — 1)
11 (u” —3ub +du® —ut — v +2u — 1)
(' =20 +u® 20" b — TS Tt —u® - 2u 4 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,C3,C (T +55 +- =3y -1y =127 +--- =3y +1)
C2 (y" =Tyl 4y — )y + 520+ — Ty + 1)
C4. s, Co (y7 — 995 + 32¢° — 57y* + 51y° — 18y% — 1)
Syt =9y 4 -+ 112y 4 64)
c7, C10 (y" —6y° 4+ +2y — ) (y"° + 13y + - + 32y + 1)
cs (y" + 69° + 5y® — 25y* — 503> — 47y — 10y — 1)
(y" =7y’ + -+ — 64y + 169)
c11 (' =9+ =y -2+ Gy + 1)
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